
DÜNYA İÇİN ÜRETİYORUZ...

PRODUCE FOR THE WORLD

MERITOR

DX 175 ... 
Series



116 OEM numbers names and logos just only used for references

DEEP NUMBER -  3352 Caliper Guides & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10026 PIN BOOT 2

2 10029 TAPPET BOOT 2

3 11489 PIN CAP Ø 37 / 25 MM 2

4 10094 COVER PLATE GASKET 1

5 10092 CALIPER DUST COVER 1

6 11003 CALIPER PIN Ø 28 / 96-44 MM 1

OEM NO 7 11004 CALIPER PIN Ø 28 / 96-64 MM 1

8 11119 PIN BOLT Ø M14 x 1.5 / 50 MM 1

9 11120 PIN BOLT Ø M14 x 1.5 / 70 MM 1

10 11113 END PLATE BOLT Ø M10 x 1.5 / 25 MM 4

11 11112 END PLATE BOLT Ø M10 x 1.5 / 20 MM 2

12 11104 COVER PLATE BOLT Ø M8 x 1.25 / 16 MM 2

DEEP NUMBER -  3351 Caliper Boots Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10026 PIN BOOT 2

2 10027 TAPPET BOOT 2

OEM NO

DEEP NUMBER -  3353 Caliper Guides & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10026 PIN BOOT 2

2 10027 TAPPET BOOT 2

3 11489 PIN CAP Ø 37 / 25 MM 2

4 10094 COVER PLATE GASKET 1

5 11453 PIN BUSH Ø 28 x 32 / 24.80 MM 4

6 11003 CALIPER PIN Ø 28 / 96-44 MM 1

OEM NO  MCK1170 7 11004 CALIPER PIN Ø 28 / 96-64 MM 1

8 11120 PIN BOLT Ø M14 x 1.5 / 70 MM 1

9 11119 PIN BOLT Ø M14 x 1.5 / 50 MM 1

10 11113 END PLATE BOLT Ø M10 x 1.5 / 25 MM 4

11 11112 END PLATE BOLT Ø M10 x 1.5 / 20 MM 2

12 11104 COVER PLATE BOLT Ø M8 x 1.25 / 16 MM 2

13 11105 TAPPET BOLT Ø M8 x 1.25 / 20 MM 2

14 11202 WASHER 1

15 11101 PLUG BOLT 1

MERITOR TYPE

DX 175 ... Series



117www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3354 Caliper Dust Boots & Bolts Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10026 PIN BOOT 2

2 10029 TAPPET BOOT 2

3 11489 PIN CAP Ø 37 / 25 MM 2

4 11120 PIN BOLT Ø M14 x 1.5 / 70 MM 1

5 11119 PIN BOLT Ø M14 x 1.5 / 50 MM 1

OEM NO  MCK1191

DEEP NUMBER -  3355 Caliper Boots & Caps Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10026 PIN BOOT 2

2 10029 TAPPET BOOT 2

3 11489 PIN CAP Ø 37 / 25 MM 2

4 11113 END PLATE BOLT Ø M10 x 1.5 / 25 MM 4

5 11104 COVER PLATE BOLT Ø M8 x 1.25 / 16 MM 2

6 11105 TAPPET BOLT Ø M8 x 1.25 / 20 MM 2

OEM NO 7 11112 END PLATE BOLT Ø M10 x 1.5 / 20 MM 2

8 11101 PLUG BOLT 1

9 11202 WASHER 1

DEEP NUMBER -  3356 Caliper Guides & Bolts Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11003 CALIPER PIN Ø 28 / 96-44 MM 1

2 11004 CALIPER PIN Ø 28 / 96-64 MM 1

3 11120 PIN BOLT Ø M14 x 1.5 / 70 MM 1

4 11119 PIN BOLT Ø M14 x 1.5 / 50 MM 1

5 11489 PIN CAP Ø 37 / 25 MM 2

6 11453 PIN BUSH Ø 28 x 32 / 24.80 MM 4

OEM NO

MERITOR TYPE

DX 175 ... Series



118 OEM numbers names and logos just only used for references

DEEP NUMBER -  11623 Caliper Shaft

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3358 Caliper Shaft Fittings Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11623 CALIPER ECCENTRIC SHAFT 1

2 11292 CALIPER NEEDLE BEARING 2

OEM NO

DEEP NUMBER -  3359 Caliper Roller Bearings Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11292 CALIPER NEEDLE BEARING 2

2 11294 ROLLER BEARING 1

3 11483 SHAFT HOUSING BEARING 1

OEM NO

DEEP NUMBER -  3360 Caliper Roller Bearing

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11292 CALIPER NEEDLE BEARING 2

OEM NO

MERITOR TYPE

DX 175 ... Series



119www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  11768 Caliper Lever Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3362 Caliper Bridge & Tubes Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11677 CALIPER SHAFT HOUSING 95 MM 1

2 11057 CALIPER PISTON LEFT Ø 32 / 82 MM 2

3 11680 CALIPER PINION GEAR 2

4 11171 CALIBRATION BOLT LEFT 80 MM 2

5 11678 CALIPER MECHANISM PIGNON 1

6 11679 MECHANISM CENTRAL FORK 1

OEM NO

DEEP NUMBER -  3363 Caliper Bridge & Tubes Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11677 CALIPER SHAFT HOUSING 1

2 11058 CALIPER PISTON RIGHT Ø 32 / 82 MM 2

3 11680 CALIPER PINION GEAR 2

4 11172 CALIBRATION BOLT RIGHT 80 MM 2

5 11678 CALIPER MECHANISM PIGNON 1

6 11679 MECHANISM CENTRAL FORK 1

OEM NO

DEEP NUMBER -  3364 Caliper Push Plate Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11681 PLATE LEFT 95 MM 1

2 11171 CALIPER CALIBRATION BOLT LEFT 80 MM 2

3 11103 TAPPET BOLT Ø M8 x1.25/20 MM 2

OEM NO

MERITOR TYPE

DX 175 ... Series



120 OEM numbers names and logos just only used for references

DEEP NUMBER -  3365 Caliper Push Plate Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11682 PLATE RIGHT 95 MM 1

2 11172 CALIPER CALIBRATION BOLT RIGHT 80 MM 2

3 11103 TAPPET BOLT Ø M8 x1.25/20 MM 2

OEM NO

DEEP NUMBER -  3366 Caliper Adjusting Mechanism Minor Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11441 ADJUSTING MECHANISM LEFT 95 MM 1

2 11204 PIGNON 1

3 11324 SPRING 1

4 11320 WAVY WASHER 2

5 11310 CLIPS 2

6 10079 SEAL 2

OEM NO

DEEP NUMBER -  3367 Caliper Adjusting Mechanism Minor Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11442 ADJUSTING MECHANISM RIGHT 95 MM 1

2 11204 PIGNON 1

3 11324 SPRING 1

4 11320 WAVY WASHER 2

5 11310 CLIPS 2

6 10079 SEAL 2

OEM NO

MERITOR TYPE

DX 175 ... Series



121www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3368 Caliper Adjusting Mechanism Major Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11310 CLIPS 2

2 10079 SEAL 2

3 11320 WAVY WASHER 2

4 11679 MECHANISM CENTRAL FORK 1

5 11324 SPRING 1

6 11678 CALIPER MECHANISM PIGNON 1

OEM NO 7 11441 ADJUSTING MECHANISM LEFT 95 MM 1

8 11204 PIGNON 1

9 11113 BOLT Ø M10 x 1.5 / 25 MM 4

10 11105 BOLT Ø M8 x 1.25 / 20 MM 2

11 11112 BOLT Ø M10 x 1.5 / 20 MM 2

12 11101 PLUG BOLT 1

13 11202 WASHER Ø 19 / Ø 13 MM 1

DEEP NUMBER -  3369 Caliper Adjusting Mechanism Major Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11310 CLIPS 2

2 10079 SEAL 2

3 11320 WAVY WASHER 2

4 11679 MECHANISM CENTRAL FORK 1

5 11324 SPRING 1

6 11678 CALIPER MECHANISM PIGNON 1

OEM NO 7 11441 ADJUSTING MECHANISM LEFT 95 MM 1

8 11204 PIGNON 1

9 11113 BOLT Ø M10 x 1.5 / 25 MM 4

10 11105 BOLT Ø M8 x 1.25 / 20 MM 2

11 11112 BOLT Ø M10 x 1.5 / 20 MM 2

12 11101 PLUG BOLT 1

13 11202 WASHER Ø 19 / Ø 13 MM 1

DEEP NUMBER -  3370 Caliper Shaft Fittings Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11683 CALIPER PAD RETAINER 1

2 10094 COVER GASKET 1

3 11758 PIN 1

4 11759 PIN LOCKER 1

5 11105 COVER BOLT M8 x 1,25 x 20 MM 2

6 11202 WASHER 1

OEM NO  MCK1153 7 11101 PLUG BOLT 1

8 11205 BOLT WITH NUT M8 x 1.25 / 60 mm 1

MERITOR TYPE

DX 175 ... Series



122 OEM numbers names and logos just only used for references

DEEP NUMBER -  3371 Caliper Shaft Fittings Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11676 CALIPER COVER PLATE 1

2 10094 COVER PLATE GASKET 1

3 10093 COVER PLATE SEAL 1

4 11202 WASHER 1

5 11105 COVER BOLT M8 x 1,25 x 20 MM 2

6 11101 PLUG BOLT 1

OEM NO MCK1167 / MCK1295 7 11623 CALIPER ECCENTRIC SHAFT 1

8 10092 CALIPER DUST COVER 1

9 11294 ROLLER BEARING 1

DEEP NUMBER -  3372 Caliper Shaft Fittings Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11676 CALIPER COVER PLATE 1

2 10094 COVER PLATE GASKET 1

3 10093 COVER PLATE SEAL 1

4 11105 COVER BOLT M8 x 1,25 x 20 MM 2

OEM NO

DEEP NUMBER -  3373 Caliper Dust Cover

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10092 CALIPER DUST COVER 5

OEM NO

DEEP NUMBER -  3374 Caliper Shaft Seal Set

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10093 CALIPER SHAFT SEAL SET 1

OEM NO

MERITOR TYPE

DX 175 ... Series



123www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3375 Caliper Bridge & Tubes Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11677 CALIPER SHAFT HOUSING 95 MM 1

2 11057 CALIPER PISTON LEFT Ø 32 / 82 MM 2

3 11680 CALIPER PINION GEAR 2

4 11171 CALIBRATION BOLT LEFT 80 MM 2

5 11678 CALIPER MECHANISM PIGNON 1

6 11679 MECHANISM CENTRAL FORK 1

OEM NO 7 11681 PLATE LEFT 95 MM 1

8 11103 TAPPET BOLT Ø M8 x1.25/20 MM 2

DEEP NUMBER -  3376 Caliper Bridge & Tubes Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11677 CALIPER SHAFT HOUSING 1

2 11058 CALIPER PISTON RIGHT Ø 32 / 82 MM 2

3 11680 CALIPER PINION GEAR 2

4 11172 CALIBRATION BOLT RIGHT 80 MM 2

5 11678 CALIPER MECHANISM PIGNON 1

6 11679 MECHANISM CENTRAL FORK 1

OEM NO 7 11682 PLATE RIGHT 95 MM 1

8 11103 TAPPET BOLT Ø M8 x1.25/20 MM 2

DEEP NUMBER -  3377 Caliper Adjuster Sleeve & Thrust Plate Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11677 CALIPER SHAFT HOUSING 95 MM 1

2 11057 CALIPER PISTON LEFT Ø 32 / 82 MM 2

3 11680 CALIPER PINION GEAR 2

4 11171 CALIBRATION BOLT LEFT 80 MM 2

5 11103 TAPPET BOLT Ø M8 x1.25/20 MM 2

6 10027 TAPPET BOOT 2

OEM NO 7 11488 PIN CAP Ø 37 / 15 mm 2

8 11681 PLATE LEFT 95 MM 1

9 11320 WAVY WASHER 2

10 11310 CLIPS 1

MERITOR TYPE

DX 175 ... Series



124 OEM numbers names and logos just only used for references

DEEP NUMBER -  3378 Caliper Adjuster Sleeve & Thrust Plate Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11677 CALIPER SHAFT HOUSING 95 MM 1

2 11058 CALIPER PISTON RIGHT Ø 32 / 82 MM 2

3 11680 CALIPER PINION GEAR 2

4 11172 CALIBRATION BOLT RIGHT 80 MM 2

5 11103 TAPPET BOLT Ø M8 x1.25/20 MM 2

6 10027 TAPPET BOOT 2

OEM NO 7 11488 PIN CAP Ø 37 / 15 mm 2

8 11682 PLATE RIGHT 95 MM 1

9 11320 WAVY WASHER 2

10 11310 CLIPS 1

DEEP NUMBER -  11677 Caliper Shaft Housing

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3380 Caliper Pistons & Pignons Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11057 CALIPER PISTON LEFT Ø 32 / 82 MM 2

2 11680 CALIPER PINION GEAR 2

OEM NO

DEEP NUMBER -  3381 Caliper Pistons & Pignons Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11058 CALIPER PISTON RIGHT Ø 32 / 82 MM 2

2 11680 CALIPER PINION GEAR 2

OEM NO

MERITOR TYPE

DX 175 ... Series



125www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3382 Caliper Pistons & Pignons Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11057 CALIPER PISTON LEFT Ø 32 / 82 MM 2

2 11680 CALIPER PINION GEAR 2

3 11171 CALIBRATION BOLT LEFT 80 MM 2

OEM NO

DEEP NUMBER -  3383 Caliper Pistons & Pignons Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11058 CALIPER PISTON RIGHT Ø 32 / 82 MM 2

2 11680 CALIPER PINION GEAR 2

3 11172 CALIBRATION BOLT RIGHT 80 MM 2

OEM NO

DEEP NUMBER -  3384 Caliper Central Fork & Pignon

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11679 MECHANISM CENTRAL FORK 1

2 11678 CALIPER MECHANISM PIGNON 1

OEM NO

DEEP NUMBER -  11683 Caliper Pad Retainer

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

MERITOR TYPE

DX 175 ... Series



126 OEM numbers names and logos just only used for references

DEEP NUMBER -  11760 Caliper Top Cover Left

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  11761 Caliper Top Cover Right

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

MERITOR TYPE

DX 175 ... Series


	



